Three-Level Guide

Read the poem and look at the statements below. In each section, put a check in the box next to the statements you agree with. If you don’t agree with a statement leave it blank. Be ready to say why these are your opinions.
Level 1 – Literal

What happens in the poem? 

 The speaker comes to a fork in the road in the woods.

 The speaker chooses the less-worn path.

 The speaker knows he can come back to go down the other path if he wants.

Level 2 – Interpretive

Does the poem make you think this? Why or why not?

 The speaker is happy about his decision. 

 The decision is easy for the speaker to make. 

 The speaker prefers the less-traveled path only because it less traveled.

Level 3 – Applied

Come up with your own three statements by applying your interpretation of the poem to real life. You can’t use the example. 
Ex: People come to points in their lives when they have to make decisions. 

THE ROAD NOT TAKEN
Robert Frost
Two roads diverged in a yellow wood,
And sorry I could not travel both
And be one traveler, long I stood
And looked down one as far as I could
To where it bent in the undergrowth;
Then took the other, as just as fair,
And having perhaps the better claim,
Because it was grassy and wanted wear;
Though as for that the passing there
Had worn them really about the same,
And both that morning equally lay
In leaves no step had trodden black.
Oh, I kept the first for another day!
Yet knowing how way leads on to way,
I doubted if I should ever come back.
I shall be telling this with a sigh
Somewhere ages and ages hence:
Two roads diverged in a wood, and I-
I took the one less traveled by,
And that has made all the difference.
